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Exercice A4 &, 2
Linearize :

B(6) = sin3(0)
Exercice 2
Demonstrate that the effective value of the voltage u(t) which has the
following instantaneous value u(t) = U, sin(wt) is:

Um ax

Uer = NG

Exercice 3

The circuit in Figure 1 is supplied by a sinusoidal voltage source expressed

in the domain time as: i) Ru i (t)
—_——
v(t) = 40sin(3000t) Figure 1 ’
R2
v(t) ’\D i2(t) L
Ry =15KQ C==uF L=§H —‘C
R, = 1K .

1) Calculate the equivalent impedance of this circuit? what is the nature of this
impedance?

2) Determine The effective value of current I ? deduce the instantaneous value of the
current i(t)?

3) Is the current i(t) lagging behind the voltage, in phase or leading the voltage v(t)?
(Justify your answer)

4) Determine The effective value of current I;? deduce the instantaneous value of the
current i (t) ?

5) Determine The effective value of the current I,? deduce the instantaneous value of
the current is(t)?

6) Evaluate the power factor?

7) Determine the active and reactive power consumed by this impedance?

Good luck
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